Zad.1

Przygotowanie do RartRowki — RL. 1T AT

Rozwiaz rownania:

a)
b)
c)
d)
e)
f)

8)
h)
i)

Zad. 2

X*-2x+3(x—1) = 4x-3(1-2x)
5%%+ 2(x — 4) = (x- 3)(x + 2) + 4x
-3x%-4x-1=0

5x*-6x+1=0

9x* — 100 = 5x°

2x*—8x =0

(3x—1)(4x +5) =(4x +5)(2x - 1)
(2+5x)*=19x=(x—4) (x+5)
a3 -2(x+1) =x*-2x - 8

Wyznacz warto$¢ najmniejsza i najwiekszg funkcji w podanym przedziale:

a)
b)
c)
d)
e)
f)

f(x)=2x*-4x+7 ,<-1,2>
f(x) =-3x>+2x-5,<1, 3>
f(x) =-2x*-8x +7 , <-3, 0>
f(x) = 2x*-6x , <0, 2>

f(x) = -x>+3x-1 ,<-1, 1>
f(x)=5x*> +2 ,<2,2>



